e BH () 50/ -
= |1 25/~
FHYEL AR 40/ -
A 9a1g 15/-
qI9S HHETAT 40/ -
EILES 30/~
q9g A 20/ -
: 60/ -
g1 TFA1 70/ -
S Tl 70/ -
AT agan 70/ -
¥e TFdl 80/~
3@l BH 20/ -
<&l Bl 30/ -
=BT IS 30/-
=% 9 40/-
g 9= 50/-
Crageic 25/=
2T YU3T 30/~
WE ST 35/-
o=t Tt (=) 20/~
U "N 20/ -
T a=slt 7t 7/-
U awgll === S/-
U aa1 =X 9/-

TS aa1 == 7/-
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WIS IEAH il
HIEY HaTAT

SIS HETAT

150/~
150/ -
150/ -
140/ -
140/ -
150/~
170/ -
120/ -
120/ -
120/ -
140/ -
150/ -
140/ -
130/-
130/ -
130/ -
130/ -
130/ -
120/ -
110/ -
100/ -
100/ -
100/ -
100/ -
160/ -
160/ -
160/ -
200/ -
180/~
170/ -
160/ -
160/~
170/~
180/ -
150/ -
170/ -
170/ -
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qurd faad

4
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110/ =
e
100/ =
100/ =
00/ =
60/ =
100/ =
80/ =
60/ =
100/ =
110/ =

80/~
100/~
110/~
130/~
110/~
90/-
80/~
60/~
80/~
130/~
70/~
90/~



Salls LA 25/~

STl St 40/ -
THR 9t 45/ -
it ST 30/ -
e qr=n 30/-
aeft et 30/-
K SUAEY 30/ -
Ha 31 30/ -
HE 9031 50/~
SIS Hgq 60/ -
A 90T (TEr) 20/-
IS 9UST 70/ -
EERCAT 40/ -
= dsfas 45/ -
e defas 60/~
Hib] 25/~
= areolion o
a9 qSo9 50/~
a9 JSeH 70/ -
gl geew 70/ -
SBI8C IS¢ 60/ -
Teed fau oiix 70/ -
o fay agfes 60/~
Ieod fag udg 60/ -
R EUSE 50/ -
SRR USE 60/~

TOTE T e 1r=iiror =N/ _




wrag 1w fag 80/-
v wrag i 50/ -
feeeht o 110/~
qeed Wet 80/ -
wrfe Juvd fau wyfra 70/~
foreeht g22) 160/ -
foreeh w221 firedt 110/~
w1 feeef 110/-
waren et ) 110/~ -
& ol 2

TR T 135/ -
o fery 60/~
HIegiay 45/ -
hwﬁza 40/ -
a (=) 35/
= () 35/
L rdrac = 35/-
TR WA 30/ -
& vy 30/
Wﬁmm 140/ -
HyEy feaem 150/~
ésﬁ%'aaﬁ‘mm 130/-
FIH THIE] 90/ -
H FaTg 110/-
& 90 Fag 110/-

e 125/ -




